EARAROBEEIERT — 2 N— IBISH —F

201478128 (+) 2@ES3H

R EEXl

REEF 4t [HETE] i

(xwlm [ memml - |y ) oo nE

[A~&£] 1 7% 4,600,000 ~ 23 :1,800,000 . 337 :1,200,000 3 4 3 :690,000 " ~ 5 j&:460,000

& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
— N R HRIFE 148. —3-4- . . EHHEL (EiH)
1 X 2 ATTHXTI4—> s 54.0 1(@)4 Soaa (374 883 :1_020) Z‘:’;Eﬂﬁ%ﬁ
X THANAIN BT LF—T 1 —IN— KIE S
g 7 g i 3 | ALNEF 1:48.6 2-2-2-2 | 37.9|80.9 | 5 430 | AFIERK (5EiA)
2 7 KF771—F 54.0 (1 1/4) (-10) | AREE
R:B=Z/FXLLy b B:YIN—FyILR HE77—L
A 4% 3 | FIBEK 1:48.6 5-5-8-5 |37.3| 81.6 | 6 436 | SARRRBL ()
cl 3 KN 54.0 (7E) 4y | EEB—
L:707% B:YNITIURL B
-2 4 3 | EDAME 1:49.0 9-9-2-3 |38.2| 76.5 | 2 450 | BTANE ()
4/8[12| =>¥/HY [B] 54.0 (2 1/2) (+2) | EBWIEST
x> inM0— B IFNCR N E%5%
° N HHE 149, -11-8- . . amEZ (EH)
5 4 AL TINF v % 3 &% (17:;970) 11-11-8-5 | 37.7 | 77.9 | 4 (fg) ol
LT RIA Y L= BAATNITY T BEH Hi
35 i 3 | FHE 1:49.1 9-9-10-8 |37.4| 77.1 | 8 472 | FRERL (EA)
6|11 3I7IN/3A 54.0 (172) Ly |SBEE
R:FA—TZANA BRIy FEKS
2578 . 4 3 | HEHEER 1:49.3 1-1-1-1 | 38.6| 72.3 | 7 486 | =/ =HF (EH)
718l13/ #VEF>OTL R 5.0 (3/4) () |H Ho Zza7-ENF
Z:avi X BYNFNTF =4 H—L—- T vwIN> - T7—LARSE
N S = HIBEAN : 54— W= (EH)
glsle|v>nvarLFa i 3 o 1'(%10)'0 5-5-4-5 |39.0| 65.8 | 9 51_9:) i
R:v>Nyg>h71 B:LTs R="P1Ib J=HTy—LI
L H S 43 | AERIR 1:50.2 5-5-7-8 | 39.0 | 64.5 | 10 | 430 |MALEHE (K#)
o|7{1|71=%7 54.0 (1172 Gy | B 1S
L:Yrh—>r B:LFs—UF14ZXb GRS =Y]
s 4 3 | REME 1:50.4 11-12-12-12| 38.1 | 65.6 | 11 504 | DIEEFIE (353d)
10 5 IN)=ThF> A51.0 (1 1/4) (-2) xS
R:TIRAFY LN B:arduvs4h +H ®EF
7 4 3 | HPBE 1:50.6 8-8-10-11 | 38.9 | 62.3 | 3 422 | MIEHIE—BR (#)
1fgo|71>XALU—=7 54.0 M Co | W) 712X 57
R:d—IWK7Ya—-b B:T759 32191 XFAF1= ABK S
S B 3 | HEX 1:50.6 3-3-4-10 |39.6| 59.3 | 12 | 458 |RWH=E (EiH)
12 8 AL —=NJT 1 — A51.0 (7€) *+2) >R Mg
Rinva—TO7v48— B:H71xv337 UL e
— > B3 | AEDHE 1:50.7 13-12-13-13| 38.1 | 63.0 | 13 | 420 |BEEEE (F#)
13[7|10| 71 TR T 7 L~ 4510 (172 | EHE
L:y—>H— B:FzV-—-"TrL— RE 1%
@ 71 L
) 50.2-37.7
NA> R4 L | 7.2-11.7-12.6-13.4-13.3-12.5-12.3-12.5-12.9
® I —F—@EBIERL
13=7r= 13,7(2,8) (3,6,11)9(1,12) (4,5)-10
20—+ — 13,7(2,8) (3,6,11)9(1,12)4-(10,5)
S=57= (x13,7,12) (2,6,8)11(3,4)-(1,9)-5-10
43—+ — (x13,7)12,2(3,6,4) (1,11)8,9-5-10
[ RN
B OB 2 190 714K 2-7 480M e & 2-5 800M &R 2-3-7 3,280
8 B 2 110 2-3 550 B & 2-7 1,1108 3B 2-7-3 10,820
7 250H 3-7 1,920M B H 2-7 1,820
3 260M

ABICOVWTRDTEEERROODE. TR LIV,




